13000 GeV pp
L B B I

';' _| 17T 7 17T 7 17T | Tt T T T T T | Tt T T T T T |_ ﬂ
w ~ _ 1%
© — ttHT (ATLAS semileptonic ttbar) 13
2 F WIS
= m ATLAS S
T 107! = —~©-- Herwig 7.2.1 default N
e — —&— Pythia 8.308 default =
= - ¢ Sherpa 2.2.5 default 15
e L . 1z
. >
z | i
~ -2 —
ol0" E =
(qV]
© — _
L o’
o™
— — <
o™
- s
o
9
107 = =E
— <
- 1.8,
— -
n 4o
=
. 15
Q
[%)]
-4 | 1B
10" E =
~ e
s AP R TR RO R (NNPURNY SO TU ANPUY NP NN AU RN SRR SRR NN SR R Y NP e =
:l T T T T | T T T T | T T T T | T T T T |:
2 & —2
" m -
< — —
| - ]
l_
= B ]
e 1 1
© n
"C-U' - 1
m — —
0.5 SR —0.5
0 500 1000 1500 2000

Hr "} [GeV], N** = 6



	Contents
	Page 1


